4H = WK Bl 4B B2 R TH <5 S 4 ( Wi fHE K= P2 ) 1 AT B i [og] 3

‘ﬁﬁ

s @b Wd L4 {5t 4= = RD < | M

i

WoHE | ST o gl

Koo | HE Lo

Koo | BR ol (og

KIHD | B oo fog]

WoHE | MR (g

KoHO | BE 0 (g

Ko | HE 0 (og

# L HHA17/12/2013

WIHE | SR (o]

WoHe | SR o eel

KoHD | SR jog

Ko BE 0 (o

WoHO | SR o

HKS | HKS | HKS | HKS | HKS | HKS | HKS | HKS | HKS | HKS | HKS | HKS | HKS
60 | 60 | 60 | 60 1 60 | 60| 60 | 60 | 60| 60 | 60 | 60 | 60

WIHE | MR g




#i1F HHA17/12/2013

o T

Gy

BFIA

BFIA

BE A

DB 4R Sk 30

20 |0k H-

20 jogk H-

20] |ogk H-

0f |mm

ps)
n

20 (ogy HH-

20 (ogk HH-

20 |ogk H-

e

(2

E—:‘%
53
A B

fiL

HK$
170

HK$
170

HK$
170

HK$
170

HK$
170

HKS
170

HK$
170

HK$
170

HK$
170

HK$
170

=/
TA
2
AN

Lo

1

7%

N~
-

B9 IR I8 750 =2 B>

k) i 2 5D HE

—::jl_‘l

=
Hi

o ik HH- T8 ¥ (

ju]
ju]




1L HHA17/12/2013

10| 9 8 / 6 5 4 3 2 1

i
7

a
i

THD {8

BH>
Yo

HK$
3360

AI-H| 38 |

B >

kM ) 4 3% SD HE 328 I8 8 X = K

el
=

7 [ PR A S SR PR B 2 B A
BERBEFRERE T UKRESERRE

SR 0l o S et a5 o IBD N (&




